


Capital One, New York

| W i th W'&

ey

B-F
}' = )
B 4 -

i i .;"v “
3 S i ’ RE

10600000 00.0 O (

& .“ b; ¥ Rl o |
- < ||
" = H‘L \‘J“ 1‘ ‘ 1|
e dloh ety 2 |
h.L “ <3 n*f\’.fﬁ i :
\ “ ‘i l {

S s mt- uh

| I‘v - e W N N . L_A." iha.ﬂfkki. ,‘




Prudential Center, New Jersey



CONDE NAST

Condé Nast, New York




Condé Nast, New York




_'15’: ; # /
Condé Nast, New York



Kaye Scholer, New York



Carnegie Hall, New York



22 Water Street, Boston



=

E-Toat

il

Tower 45, New York




10 Park Avenue, New York



g -,{{?%r.\ ' PO
. L | -
e i . o T
== =

]
il

- -~

-
Y

-y —

Saks Fifth Avenue, New York



ULLL1III LT 117111114 4444,

e
S
>
=
(D)
=
=
©
=
©
Ll




Etsy, New York



MUSCO Center for the Arts, Chapman University, California



. "FWI‘ — Y -
Lo e - e B e o e e

B

MUSCO Center for the Arts, Chapman University, California




MUSCO Center for the Arts, Chapman University, California



e errpngangnEnan RN NENNENENNEE)
TIITLEEL L LA A48 3 8

PRR

— v ——

Lynn University, Florida



b Bl i ok & il

l’ HI " gy h
4 'j%“ I Qg i
iyt

l | W
Ul ! I

‘‘‘‘‘‘ Iilf I jifii

Pt |||”|‘ | [ oy

Lowes Hotel, New York






Rhythm City Casino Resort, lowa



i “I“H‘;‘H‘u
il
| J‘\‘
f

‘} n‘“’ I

J
l

!
f
Il {J

sk FT it t

i o T EE

Harrah's Cherokee Casino, North Carolina










nE
TT s

B0 | S
i o e,
! - TR - ———— La L O

{’ ‘.-‘ . " "7..""'. YA~ ’:“:---..
- - ELI o e (e B ,
— Lg ﬁ- —
] v -\ W :
‘. — — ;
'

"R -/.
w —




JP Morgan Chase



o |
7

()
%)
©
c
O
=
©
oo
—
o
=
o
=)




f
§ \ 1

\J‘

;mulﬂl’.l..,

1) ‘»'IH llll

! ‘ '.! "

Pt
u"'
"
¥

4 L I T

‘

¢

%







6!

1 |_:6.ll

INSPIRATION

\ .
light fixture

tabs on interior
that have punches
for light

Specification Form

PROJECT NAME: (please include city, state when available)

SALES REPRESENTATIVE:

Company Name:

ARCHITECT/INTERIOR DESIGNER/LIGHTING PROFESSIONAL:

TODAY'S DATE:

DATE PRODUCT IS NEEDED ON SITE:

Contact Name:

Address:

Telephone Number:

City/State/Zip:

Corporate Interiors
(Offices, Boardrooms, etc)

Hospitality/Luxury
(Hotels, Restaurants, Cruise Ships, etc)

STANDARD OR MODIFICATION PRODUCT INFORMATION
TYPE: provide Product Name and Article Number (ex: The Huron, P-117)

Email:

Commercial
(Public Spaces, General Areas, etc)

Residential
(Private Residence, Multi-dwelling
Property, Condos, etc)

Standard Lukas Lighting Fixture
(as featured in catalogiwebsite)

Modification of Lukas Lighting Fixture |

(change of finish, lamping or dimensions)

“USTOM PRODUCT INFORMATION (phiysi
TYPE OF FIXTURE: (circle one of the following)

Pendant
(Linear or Drum) (Cable or Stem)

Suspension Flush Mount Sconce Other

please provide description

Dimensions: (H x W x D), including OAH

Provide Brief Description:

Basic Socket Candelabra Base Sockets

Decorative Illumination
(describe fixture application/location)

High Output - (Primary Light Source)
(describe fixture application/location)

METALS & FINISHES:

Architectural Metal Type Painted Finish
(polished or satin)

Powder Coated Finish Metallic Lacquer Lacquer

Glass & Finish Acrylic & Finish Acrylic/Linen Combined Fabric

Fabric with Backing

120v 277v

Universal Remote Driver/Ballasts

Lutron, Crestron OR Advance 0-10v Dimming OR Non-dimming # of Circuits

DMX Programmable




e ‘g :i 2: i
= ',"“ ) >3
B A A~

5
M







Versace






_l_ 4d 1 414 | d 1l 4
T F—F F—FF
24
TBD
Jr \ 1 17
J : ———F ’

@ SECTION // ELEVATION VIEW NOTE:

SCALE: N.T.S.

0.90" THICK MUNTZ BRASS
W/ SATIN FINISH

PLEASE ADVISE ALL CEILING HEIGHTS

AND OVERALL DROP OF FIXTURE, INCLUDING
DIMENSIONS OF SEPARATION BETWEEN RINGS

02 REFLECTED CEILING PLAN VIEW
SCALE: N.T.S.

o16"

@37

268"
@104"
@144

@ WHITE OPAL DIFFUSER

03 PERSPECTIVE VIEW
SCALE: N.T.S.

©.038" STEM ._/
W/ SATIN FINISH
A ¥— 2.38" ,|; 3" ﬂr

K 16" v
1 1 55

(.

k .

o4 SECTION // ELEVATION VIEW
SCALE: N.T.S.

PROJECT: NBCU LOBBY

TITLE: CUSTOM 5 RING PENDANT

CONF#: 8547 TYPE: L7B

DATE: 11/5/2014 REV: RECORD

DRAWN BY: MG WEIGHT: APPROX. 150 LBS
QUANTITY: 1 SCALE: N.T.S.

SUPPLY VOLTAGE: 120V

TOTAL WATTAGE: 385W

| FinisHES
F1 | LAQUER SEALED SATIN MUNTZ BRASS
F2 | WHITE POWDER COAT
1| piFFusers
D1 | WHITE OPAL - BENDHEIM
| LampiNG
L1 | B2X-LP-30-U-O-E-A-W-3" - B2 FLEX
1| DRIVER + INTERFACE
BI | OPTOLUM PS96-277-2-DIM (REMOTE)
B2 | OPTOLUM 0-10V DIMMING INTERFACE (REMOTE)
1| HARDWARE BY CONTRACTOR
H1 | 1/4-20 MOUNTING RODS
H2 | REMOTE DRIVER HOUSING
H3 | 120v INPUT
H4 | PLYWOOD BLOCKING
H5 | GYP CEILING
1| HARDWARE BY LUKAS
01 | CUSTOM MOUNTING HICKEY
02 | CUSTOM BX CABLE ADAPTOR
03 | 1/81P NIPPLE
04 | ©0.38" OD STEM - F1 FINISH
05 | @.8125" COUPLING

STEM MOUNT/MOUNTING BRACKET

8-32 WELD STUDS

1/8IP LOCKNUT

16ga STEEL MOUNTING DECK - F2 FINISH

0.90 V SHAPED BRASS RING - F1 FINISH

CENTER LED MOUNTING PLATE - F1 FINISH

STAINLESS STEEL SAFETY CABLE

18ga WIRE QUICK CONNECTS

@.375" BX CABLE

MOUNTING CANOPY - F1 FINISH

LUKAS

LIGHTING

40-22 22ND STREET ' LONG ISLAND CITY, NY 11101

TEL. 1.800.841.4011 | FAX 718.706.05696

INFO@LUKASLIGHTING.COM I WWW.LUKASLIGHTING.COM




| PROJECT: NBCU LOBBY
: TITLE: CUSTOM 5 RING PENDANT
20.65" Y 49.85" 49.85" 2 20.65" CONF#: 8547 TYPE: L7B
/r_ 1 1 1 ﬁr DATE: 11/5/2014 REV: RECORD
DRAWN BY: MG WEIGHT: APPROX. 150 LBS
— QUANTITY: 1 SCALE: N.T.S.
N y SUPPLY VOLTAGE: 120V
N , TOTAL WATTAGE: 385W
A % ROD p 7/ 065" 1| FINISHES
N Y F1 | LAQUER SEALED SATIN MUNTZ BRASS
DY — X F2 | WHITE POWDER COAT
+
N\ > ELECTRICAL ROD—", 7 [__]| DIFFUSERS
N FEED y RING 1 NOTES: D1 WHITE OPAL - BENDHEIM
144" AN / -2 X MOUNTING ROD + ELECTRICAL FEED LOCATIONS ]| LAMPING
N N 4 11 | B2X-LP-30-U-O-E-A-W-3" - B2 FLEX
N % / i -6 X MOUNTING ROD LOCATIONS (1 X SAFETY CABLE)
N\ % ko P 7 10.85" 1| DRIVER +INTERFACE
\ 45" 45" v B1 | OPTOLUM PS$96-277-2-DIM (REMOTE)
N /7 B2 | OPTOLUM 0-10V DIMMING INTERFACE (REMOTE)
N s 1| HARDWARE BY CONTRACTOR
e N\ " " 4 o H1 | 1/4-20 MOUNTING RODS
N / H2 | REMOTE DRIVER HOUSING
ROD f < X ROD
H3 | 120V INPUT
>‘< - H4 PLYWOOD BLOCKING
R P 7N N [ H5 | GYP CEILING
45°" / AN 45°" 1| HARDWARE BY LUKAS
\< 7 N\ >/ 01 | CUSTOM MOUNTING HICKEY
02 | CUSTOM BX CABLE ADAPTOR
Y 4 - - N N 03 | 1/8IP NIPPLE
s S \ 49.85" 04 | ©0.38" OD STEM - F1 FINISH
y 4 N N 05 | @.8125" COUPLING
/ X 06 | STEM MOUNT/MOUNTING BRACKET
4 4 A N 07 | 8-32 WELD STUDS
/ N\ 08 | 1/81P LOCKNUT
y £ ROD ROD N N 09 | 16ga STEEL MOUNTING DECK - F2 FINISH
\ £ 10 | 0.90 vV SHAPED BRASS RING - F1 FINISH
/ N 11 CENTER LED MOUNTING PLATE - F1 FINISH
P 4 ROD + AN 12 STAINLESS STEEL SAFETY CABLE
7 / ErLsEngCAL N X 20.65" 13| 18ga WIRE QUICK CONNECTS
A AN 14 3.375" BX CABLE
15 | MOUNTING CANOPY - F1 FINISH
— 7
[

0 RING 1 ROD LAYOUT PLAN |
SCALE: N.T.S.

LUKAS

LIGHTING

40-22 22ND STREET ' LONG ISLAND CITY, NY 11101

02 DETAIL PERSPECTIVE
SCALE: N.T.S.

TEL. 1.800.841.4011 | FAX 718.706.05696

INFO@LUKASLIGHTING.COM I WWW.LUKASLIGHTING.COM







l l?ll“' vl Q A







CAPITAL ONE



WARNING: PROJECT: CAPITAL ONE

FIXTURE, POWER SUPPLY AND WIRE CONNECTION MUST BE TITLE: CUSTOM CHANDELIER
INSTALLED BY A QUALIFIED ELECTRICIAN IN ACCORDANCE

~— (47) ELECTRICAL SUPPLY CONDUITS - ;
WITH THE NATIONAL ELECTRICAL CODE (NEC) BY CONTRACTOR CONF#: 8652 TYPE:
AND LOCAL BUILDING CODES. FAILURE TO DO SO DATE: 11/12/2014 REV:
INJURY AND/OR PERMANENT DAMAGE TO THE UNIT. PO o A oo Sl SPECIFIED BY ENGINEER OF RECORD QUANTITY: 1 SCALE: NTS.

SUPPLIED AND INSTALLED BY OTHERS SUPPLY VOLTAGE: TBD

TOTAL WATTAGE: APPROX. 2525 WATT

(6) PER MODULE #12
SUPPLIED AND INSTALLED BY CONTRACTOR

NOTE:
MAIN SUPPORT CHANNELS - 1-1/2 KINDORF [__1| MATERIAL FINISHES
FASTENED DIRECTLY TO BUILDING STEEL BEAM F1 TBD
BY OTHERS
DIFFUSERS
D1 | TBD
“————— (2) PAIRS OF 12 GA WIRES PER EACH CONDUIT
EACH PAIR GOES TO EACH FACE PLATE
BY CONTRACTOR [ || LAMPING
10" X 16" ACCESS DOORS L1 | (2525) 1W LED, 24V 3000K
3 ACCESS DOORS PER RACEWAY —._ 3/16" THICK ALUMINUM FACE PLATES
WITH HOLES FOR LIGHT ELEMENTS 1| LEDDRIVER
INSTALLED BY CONTRACTOR
B1 | (36)96W MAX MLV LED DRIVER, 24V
NOTE: - SEE ATTACHED CUT
HOLE PATTERN AND LIGHT COUNT PER PANEL WILL BE DEFERENT
TO 1/4 SCALE MOCK UP. ééhﬁggggopiﬁo
. / LENGTH SETBY-LUKAS
~~— 12 GA TERMINAL BLOCK ON EACH FACE PLATE BY LUKAS / I'e .
g o

/~ WIRE TERMINAL ON END OF EACH 12 GA WIRE
/ BY CONTRACTOR
—_

/N
"1
/

s

/ -

/ 5 % -
S

12 GA WIRES S ) A

BY CONTRACTOR A 2

-——

SERVICE STAINLESS
STEEL CABLE

ON EACH PANEL BY LUKAS
INSTALLED BY CONTRACT(Q

22 GA WIRES
COLOR TBD
UP TO 12' LONG

~~— WOOD BEAM AND MOUNTING CLIP A
SUPPLIED AND INSTALLED BY OTHERS LUKAS TO DELIVER WIRE LOOPED ON EACH PANEL

CONTRACTOR TO RELEASE AT TIME OF INSTALLATION

CONTRACTOR TO ADVISE LUKAS
TYPE, SIZE AND MATERIAL OF CLIP

: O ISOMETRIC VIEW - LOOKING DOWN DETAIL B
SCALE: N.T.S. SCALE 0.2222 STRAIN RELIEF
L (6) 1/4-20 MOUNTING SCREWS PER FACE PLATE
BALL COUNT AND FLAT HEAD, 5/8" LONG L U K A S
ORIENTATION SHOWING INSTALLED BY CONTRACTOR LIGHTING
FOR DESIGN INTENT ONLY

PAGE #7 40-22 22ND STREET | LONG ISLAND CITY, NY 11101
MECHANICAL & INSTALLATION SPECS s e
INFO@LUKASLIGHTING.COM I WWW.LUKASLIGHTING.COM




AP ALE THREADED REDS (3) KINDORF CHANNELS TO RUN LENGTH OF FIXTURE PROJECT: CAPITAL ONE
SPECIFIED BY ENGINEER OF RECORD
(9) PER MOD%;E;‘QJ ;’é%‘dfg ;’1121 [~ (47) ELECTRICAL SUPPLY CONDUIT SUPPLIED AND INSTALLED BY OTHERS TITLE: CUSTOM CHANDELIER
SUPPLIED AND INSTALLED BY CONTRACTOR | BYCONTREGIAR CONF#: 8652 TYPE:
| NOTE: DATE: 11/12/2014 REV:
““ N FASTENED DIRECTLY TO BUILDING STEEL BEAM DRAVHET: Y WEKGH HEENOTERELOW
“‘ J- 88 A E Ak ARGl BY OTHERS QUANTITY: 1 SCALE: NTS.
| | MATERIAL: 13 GA 6061 ALUMINUM :
. | | ToTAL: 114 PCS SUPPLY VOLTAGE: TBD
- — 12r - TOTAL WATTAGE: APPROX. 2525 WATT
| / ||| MATERIAL FINISHES
| / Fi | TBD
/ (2) PAIRS OF 12 GA WIRES PER EACH CONDUIT TO EACH RUN
/ BY CONTRACTOR
| || DIFFUSERS
D1 | TBD
BOUNDARY f o0
BY CONTRACTOR / WL
/ LAMPING
i “ A L1 | (2525) 1W LED, 24V 3000K
= ad “|:‘:r
; LED DRIVER
. . (58)BEAMS L1
‘ 25" GAP ALL AROUND FIXTURE FRAME ) . 2'x 4" BI | (36)96W MAX MLV LED DRIVER, 24V
; 6061 1/4" THICK
i B AN \ - ) : %{ A ALUMINUM - SEE ATTACHED CUT
; “& 7 i\\\\\\\\\i\\\ , 1| ESTIMATED WEIGHT
Q\@@% / i\\\\\\\i\ B LUKAS LIGHTING FIXTURE - APPROX. 19,400 LBS
\&& } / {t\\\\\\:\x\\\:\\ (59) WOOD BEAM BY OTHERS - APPROX. 3000 LBS
" ARURNNNRN AR
: 5 NN / AMw
i NN A
> §§§§§§§§ / §\\\:\;\\>\\\\§\\\ TOTAL ESTIMATED WEIGHT - 22,400 LBS
WY/ Nk
M A SEE PAGE #6 FOR DETAIL
R -\\\\\\\\: / N \x\\ [
AN / AR [
MN NN
NN / NN ‘
1 AN / AN\ [ —
/ | . | ‘
w | 11
3 ‘— —l I 522
1/4-20 RIVET NUTS |
TO HOLD FACE PLATE / 1L
N A A
R 1 Q 2N (59) WOOD BEAM AND MOUNTING
SIS V”‘ q 7 ‘V. 7 w B CLIP
f 5 an i IS f N BY OTHERS DETAIL D
12 GA TERMINAL BLOCK — f/ ~ N N AR v& SCALE 6" = 1'-0"
ON EACH FACE PLATE BY LUKAS i oo ﬁ e AR 1 CONTRACTOR TO ADVISE LUKAS
7 AR I R L-4~l  TYPE, SIZE AND MATERIAL OF CLIP
A RO O3 H
/ Vi‘ ol i L ? Vq DETAIL 'D' VIEW
i Y : = SCALE: N.T.S.
(114) FACE PLATES WITH LIGHTING ELEMENTS /.| 1 > ? Y
MATERIAL: 5 GA 6061 ALUMINUM AR % s AN
= T & < I
eV - = v,
SECTION C-C LUKAS
PAGE #8 SCALE 0.1996 LIGHTING
TYPICAL S ECTIO N vI EW 40-22 22ND STREET | LONG ISLAND CITY, NY 11101
O TYPICAL SECTION VIEW TEL. 1.800.841.4011 | FAX 718.706.0596
SCALE' N'T.s' INFO@LUKASLIGHTING.COM I WWW.LUKASLIGHTING.COM

SHOWING RELATION OF 'Z' BRACKET AND PANEL




e 19 6B B 0 W B R _
- FINAL COUNT OF DRIVERS, WIRE LEADS TO LIGHTS, PULL BOX, JUNCTION BOX — < E} 3 2 2 2 %‘ 2 % 2 2 PROJECT: GAPITAL ONE
| | | | | L L <
AND WIRING DIAGRAM ARE SUBJECT TO CHANGE PER 1/4 SCALE MOCK UP REVIEW B ! b A s \ TITLE: CUSTOM CHANDELIER
P o & K e [ e ‘g @ n @ CONF#: 8652 TYPE:
- ALL ELECTRICAL FEATURES FOR DIMMING, DRIVERS AND 1 WATT LEDs WILL BE UPDATED = 0% % ¢ 2 2 9 £ % ¢ o8 : Lo
UPON REVIEW AND APPROVAL OF MOCK UP AND CONTROL SPECIFICATION. ‘ s s ; OATE:AGIZ05 | BER
- DRIVER ENCLOSURE COUNT WILL BE SUBJECTED TO CHANGE ETL'S FINAL ACCESSMENT = L - = | DRAWNSBY: DJ [WEIGHT: SEFNOTE BELOW
N M I (N | I D - :
\ g ¢ ¢ ¢ : 34 2 ¢ 2 ¢ QUANTITY: 1 SCALE: NTS.
- MAKE SURE THAT THE DRIVERS ARE ON THEIR OWN CIRCUITS AND DO NOT SHARE NEUTRALS o O s i A ; b i SUBPLY YO TABE B0
mimi - R AR dHE M TOTAL WATTAGE: APPROX, 2556 WATT
g ¢ g ¢ T8 93 ¢ ¢ ¢ ¢
o - ~ 47 FEEDS FROM DRIVERS,
e ' — | 2PAIRS OF 12 GAUGE WIRE PER RACEWAY
= BY CONTRACTOR
SPLICE AS REQUIRED TO BACK OF ALL FIXTURE
PANELS AND DRIVER ENCLOSURES
2ND FLOOR WALKWAY — L) | A X
ELECTRICAL ROOM ol el
pusssINgN| LI
LA L s Ll ol sl sl sl gl sliod ol )l Bl ol ) il ol kil ) il il bl e .
M < e[y @] @ % T N9 T T Qmaxle @ (% @ 3]sz Y N Y99 2 QTN 2T 2 e x @ T gy 0 e © e e
S 0% E R R (§/ % § § 22 2 89223 F F &R RER2ER 22 ERRR R 288
5/t £ ¢ E $EEE¢EEEEEEEOEGEEEEEEEEEEEOECEEEEEEE G GGOEEEE
|| >/222222222222222"2;2'_%%.2222222222222222222222>,2%22
I 14 14 o 14 ['4 ['4 14 [i'4 o o o /4 o ['4 o ['4 - o o T m\ [h'q o ['4 ['4 ['4 ['4 14 o o ['4 o ['4 X o ['4 o X o gir-=ard x || ['4 4
j / cio|la|la|lo|[alle]|ialio] o ajja|jo|la|lala|a][o|ie]/e|e=alc||c||la||o allal||a|la| o |a|lc|la|lcd]|ac |B D‘or/e/n_g/.e—\g\\e\o
(i / 1l GH |2 el
N [ ! s //,‘ il ‘ \ "
;“H | (14 30 35 38 39 42 41 39 39 38 36 3533 31 30 28 27 24 23 21 19 18 1615 13 1212 9 9 6 6 6 6 6 6 6 6-6 9 101315 17 22 24 25
‘ \‘ VolE NUMBER |OF LIGHTING ELEMENTS ON EACH 7'-1/8" PANEL i A : ; ' “
$ VLI = O 1N D | Loy
7?*5“9 slfe ezl lislieliellslizlieleliziielisiizlizlieielieliells inlielielislielieifzilellells e il Txilelisli s ie]i=e g
?‘ﬂ“\‘ FORERE R R OE (1§88 222222 2 £33y Rrer e eege ezx g\"% 4
2 At o 14 o o 14 14 14 o 14 14 o 14 o o o o o © x 4 1 o o o o o o 14 4 14 o [he o x o [r'4 [1q X o 14 o 14 [he o 5 1]
X Vo w w w w w w w w w w w w w w w w w w w w w w w w w w w w w w w w w w w w ww w w w wow
f,‘\ zllzllzltzllzlizglizilgltz]lz i aitzllzgliz iz iz 1tglt gt gllgii gl tzitaliz]iz gl izl 2ligtgltzlt gtz {lg 1t gt 2llg 11gltel izt 2lle | ig >
‘ \%ﬂ\ﬂ{ ['4 ['4 [i'4 o ['4 o ['4 o ['4 o ['4 ['4 o ['4 o 4 ['4 ['4 ['4 o 4 o o ['4 ['4 ['4 ['4 4 o ['4 o X o ['4 14 x| o 14 o o X | / 4 .<
\ o o [=] =] (1 (=] a o [} [a] o [=] [=] [=) o (=] o (=) o o a =] =] o [a] [a] (=) o o o a o o o [a} a ola o [} o o [a Ny dal [=] !
| | , x
ol ‘ \ZKSZ 35 39 40 42 42 41 39 39 39 39 37 36 36 .36 33 33 33 33 33 33 .33 /33|33 33 3333 35 36 36 36 37 39 39 39 39 39 37 36}2/9/x 14 1 E
il NUMBER OF LIGHTING ELEMENTS ON EACH 7-4/8" PANEL ——— — —+ —— — |
M \ 1 L —— |l T o~ | _L—T
gsv.el g T T 0 0 0 = P T ] i To— 1 [ 0 0 ] OTH T 1 1 ] "
1 2 3 4 5 6 7 8910 11 12 13 141516 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45 46 47 48 49 50 51 52 53|54 55
PANEL NUMBER
NORTH
49TH STREET WARNING: LUKAS
FIXTURE, POWER SUPPLY AND WIRE CONNECTION MUST BE
PLAN VIEW '
’ SCALE: NT.S INSTALLED BY A QUALIFIED ELECTRICIAN IN ACCORDANCE LIGHTING
PAGE #9 ' T WITH THE NATIONAL ELECTRICAL CODE (NEC) 40-22 22ND STREET | LONG ISLAND CITY, NY 11101

AND LOCAL BUILDING CODES. FAILURE TO DO SO TEL. 1.800.841.4011 | FAX 718.706.0506

ELECTRICAL DESIGN SPECS WILL VOID THE WARRANTY AND MAY RESULT IN SERIOUS INFOBLUKASLIGHTING.COM | WHWW.LUKASLIGHTING.COM

INJURY AND/OR PERMANENT DAMAGE TO THE UNIT.




PROJECT: CAPITAL ONE

TITLE: CUSTOM CHANDELIER

CONF#: 8652 TYPE:

DATE: 11/24/2014 REV:

R DRAWN BY: DJ WEIGHT: SEE NOTE BELOW
R QUANTITY: 1 SCALE: N.TS.

SUPPLY VOLTAGE: 120V

TOTAL WATTAGE: APPROX. 2525 WATT

MATERIAL FINISHES

F1 | TBD

|

EES
E R ST
FEEH
SRS
ESSH
L 55 1
553

BEES
BEEES
EF
EEEY
EE
EEET
H
11}
1171
LELE]
i 1
B
58
B
5 |
g
3 |
£
FE|
&
Z
&
E1 ]
7]
i

|

DIFFUSERS
D1 TBD

REEEEE

T o
&8 R B

LAMPING
L1 (2525) 1W LED, 24V 3000K

REEEE

I

;2 -2 BB EAEEER

R2ZEREE
CEEECEEE

BCECEEED

RR R

LED DRIVER
B1 (36) 96W MAX MLV LED DRIVER, 24V
- SEE ATTACHED CUT

I

I

ESTIMATED WEIGHT
LUKAS LIGHTING FIXTURE - APPROX. 19,400 LBS
(59) WOOD BEAM BY OTHERS - APPROX. 3000 LBS

TOTAL ESTIMATED WEIGHT - 22,400 LBS

L
L

UIKAS
G

HTING

40-22 2ND STREET | LONG ISLAND CITY, NY 11101

TEL. 1.800.841.4011 | FAX 718.706.0596

NUMBERS OF LIGHTING ELEMENTS NFoLURASLISHTING. oM | W LUKKSLIOHTIG. oM







u.n';.l lm dIllsi"l ml IIJ p ".," ! ""
| X & ','K ey ¥ ‘. - _ B .
w’"‘__“,n A lu'.'u“ l'l lm‘ : ., “?'li‘. i Vbt ¥ p >
— Muiﬂﬂﬂhilﬂ. SRR T R 03999 900 6000 20 83 LY L
! B, N‘l..n lmMJH i h'H i “hooc"“&“‘; :

] i R TR
1 ‘ﬁq«ooo.,o.-«o '







ll!ll\lﬂ

| & b
| 9 y
i @ M )
‘ ‘ 10 alY | I [
" wllll| I » il ]
R it | (8 TS ]
L m st T4 ? %, %,
v ' Tl p'd D )
B 1 ! y I ..
—_ ol \‘ it g(‘
\L;\ }k\ v |
[l Pl i il | W
i “l "l | Al 3
3 —, gt b 4 g
. N iy U i 1
iy e, ) nF ™y
Tt |R
M i i Iil !
J i “‘l
Il |I|‘“! }F ol s
e ) ol
TP 4‘ @
‘ J m " @ i
i IO
! Il Il lf "‘
i




CONVERSE



Nl

— CONDUIT TO FIXTURE J.80X
BY CONTRACTOR

e ~
——{H2) (15) 3/8-16 Threaded Rods
Anchors by Contractor

22.5" Long From Finished

09)—"

(12) Remote LED Drivers
Each 0-10V Dimming Requires 5 Wires

*Black, White, Gray, Purple & Geen
12ft Max Distance from Canopy

If Don't Use as Dimming Driver
You don't need to Use

*Gray & Purple Wires

12'

ELEVATION VIEW

O

SCALE: 1:24 % S

(12) LED DRIVER BOX

\@Sening

)

03)
o)

)

(1) FIXTURE J.BOX _—

BOTTOM VIEW
SCALE: 1:24

PROJECT: CONVERSE MONTREAL

TITLE: CUSTOM LIGHT SCULPTURE

CONF#:: 9006 TYPE:

DATE: 10/29/2015 REV:

DRAWN BY: DJ WEIGHT: APPROX. 600LBS
QUANTITY: 1 SCALE: 1:24

SUPPLY VOLTAGE: 120V

TOTAL WATTAGE: APPROX 1000W

[ 1| FINISHES
F1 BENJAMIN MOORE GRAY HUSKIE
[ || DIFFUSERS
D1 7328 WHAITE ACRYLIC INNER LAYER TOP &
BOTTOM PER MOCK-UP SAMPLE
[ 1| LAMPING
L1 5.9W/PER FOOT
[ || BALLAST AND DRIVER
B1 (15) 90W, 0-10V Driver, Universal V Input, 58V Output

L]

HARDWARE BY CONTRACTOR

H1 Conduits to Fixture J.Box. 14 AWG White,
Black, Gray, Purple & Green Wires. Feeded
Into Back Side of Fixture Canopy.

H2 9 5)3/8-16 Threaded Rods Anchors

2.5" Long from Finished Ceiling.
[ ]| HARDWARE BY LUKAS

01 (15)82" Slip Canopy

02 (15)®1/2" Sleeve

03 4 Sectioned Canopy Frame with Top Cover

04 4 Sectioned Face Plates with Wire Exit Holes

05 18AWG Single Conductor White Nylon Fabric
Wires

06 140 Converse Shoes with Clear Sole

07 5.9W/per Foot Flexible LED, 3000K

08 7328 White Acrylic Inner Layers (Top &

Bottom)

LUKAS

LIGHTING

40-22 22ND STREET | LONG ISLAND CITY, NY 11101

TEL. 1.800.841.4011 | FAX 718.706.0596

INFO@LUKASLIGHTING.COM ' WWW.LUKASLIGHTING.COM




Installation

Step 1) Install Metal Sleeve & Slip Canopy to Ceiling Threaded Rods

Step 2) Install #1 Fixture Frame with Top Cover. Secure with 3/8-16 Hex Nuts.

Step 3) Install #2 Fixture Frame with Top Cover. Secure with 3/8-16 Hex Nuts and Bolt to 2-flame seam joints by Provided 3/8-16 Nex bolts and Secure Mending Plates at top side of frame.
Step 4) Install #3 Fixture Frame with Top Cover. Secure with 3/8-16 Hex Nuts and Bolt to 2-flame seam joints by Provided 3/8-16 Nex bolts and Secure Mending Plates at top side of frame.
Step 5) Install #4 Fixture Frame with Top Cover. Secure with 3/8-16 Hex Nuts and Bolt to 2-flame seam joints by Provided 3/8-16 Nex bolts and Secure Mending Plates at top side of frame.

Step 6) Install #4 Face Panel with Shoes. Pass Driver Connection Wires Through Frame Wire Pass Hole to #3 Flame.

Step 7) Install #3 Face Panel with Shoes. Pass Driver Connection Wires & Jump Wires Through Frame Wire Pass Hole to #2 Flame.

Step 8) Install #2 Face Panel with Shoes. Pass Driver Connection Wires & Jump Wires Through Frame Wire Pass Hole to #1 Flame.

Step 9) Install #1 Face Panel with Shoes. Pass All Driver Connection Wire to Each Driver Box on Top of Flame and Make Each Connection (58VDC Connections).

Step 10) Make 120 VAC Connection Inside of Gang Box. *** OPTION: We Prepared 0-10V Dimming Wires (Gray & Purple). Just In Case They want to Dim Fixture in the Future.

PROJECT: CONVERSE MONTREAL

TITLE: CUSTOM LIGHT SCULPTURE

CONF#:: 9006 TYPE:

DATE: 10/29/2015 REV:

DRAWN BY: DJ WEIGHT: APPROX. 600 LBS
QUANTITY: 1 SCALE: 1:24

SUPPLY VOLTAGE: 120V

TOTAL WATTAGE: APPROX 1000W

[ ]| FINISHES
F1 BENJAMIN MOORE GRAY HUSKIE
[ || DIFFUSERS
D1 7328 WHAITE ACRYLIC INNER LAYER TOP &
BOTTOM PER MOCK-UP SAMPLE
[ 1| LAMPING
L1 5.9W/PER FOOT
[ ]| BALLAST AND DRIVER
B1 (12) 90W, 0-10V Driver, Universal V Input, 58V Output
[ ]| HARDWARE BY CONTRACTOR
H1 Conduits to Fixture J.Box. 14 AWG White,
Black, Gray, Purple & Green Wires. Feeded
Into Back Side of Fixture Canopy.
H2 5125%:3/&1“6 Tfhrea'ggq Eogsc A_r;phors
. g from Finished Ceiling.
[ ]| HARDWARE BY LUKAS
01 (15)82" Slip Canopy
02 (15)®1/2" Sleeve
03 4 Sectioned Canopy Frame with Top Cover
04 4 Sectioned Face Plates with Wire Exit Holes
05 18AWG Single Conductor White Nylon Fabric
Wires
06 140 Converse Shoes with Clear Sole
07 5.9W/per Foot Flexible LED, 3000K
08 7328 White Acrylic Inner Layers (Top &
Bottom)
09 (4)Sectioned Main Frame with Top Cover
10 (50)8-32 Flat Socket Head Screws
1 (42)3/8-16 Hex Nuts
12 ?1" Wire Pass Holes
13 (6)Top Mending Plates

LUKAS

LIGHTING

40-22 22ND STREET | LONG ISLAND CITY, NY 11101

TEL. 1.800.841.4011 | FAX 718.706.0596

INFO@LUKASLIGHTING.COM I WWW.LUKASLIGHTING.COM













Converse, Boston, MA



